

Apartment in Mgarr



Mgarr, North



€510,000

Reference No: 240251096-415

 Total Rooms: **7**

 Floor Area (m²) : **167**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Mgarr

Mgarr - Highly finished and fully furnished apartment having a large and spacious open plan kitchen/living/dining, three double bedrooms, bathroom, ensuite and a box room. A front terrace gives ample light to this beautiful apartment and also allows space for entertainment. The 167sqm apartment is situated just 5 minute walk from Gnejna bay and guarantees a peaceful lifestyle in this much sought after northern location.

Features

- ✓ Lift
- ✓ Kitchen/Dinette
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ Gypsum Plastering
- ✓ Skirting
- ✓ Double Glazed
- ✓ Balcony
- ✓ Natural Gas
- ✓ En Suite
- ✓ Water Utility
- ✓ Soffit Ceilings
- ✓ A/C
- ✓ Passenger Lift
- ✓ Terrace

Rooms

- ✓ Kitchen/Living/Dining : 7.7 x 7.3 m (56.21 m2)
- ✓ Double Bedroom : 5.18 x 3.19 m (16.52 m2)
- ✓ Double Bedroom : 3.62 x 3.61 m (13.07 m2)
- ✓ Double Bedroom : 4.65 x 3.59 m (16.69 m2)
- ✓ Box Room : 2.09 x 1.99 m (4.16 m2)
- ✓ Hallway : 4 x 3 m (12 m2)
- ✓ Bathroom : 2.24 x 2.26 m (5.06 m2)
- ✓ Shower Ensuite : 1.5 x 1.99 m (2.98 m2)
- ✓ Hallway : 6 x 2 m (12 m2)

- ✓ Open Space : 3.59 x 2.85 m (10.23 m²)
- ✓ Open Space : 3.61 x 1.3 m (4.69 m²)
- ✓ Open Space : 3.45 x 3.9 m (13.46 m²)

Gallery







Clive Pollacco

RE/MAX Advantage

M: 79486346

E: clivep@remax.com.mt

T: 21222123

RE/MAX Advantage

Advantage Residential Ltd, Triq Dun Karm, Birkirkara, Malta